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ANTHROPOLOGY
Paper— 111

All questions are compulsory.

Which one of the following articles is
related to ‘Fundamental Rights to
Equality” ?

(A) Article 23
(C) Article 38

(B) Article 24
(D) Article 14

Which one of the following is NOT a
traditional anthropological approach ?
(A) Evolutionism

(B) Functionalism

(C) Impressionism

(D) Diffusionism

Who is the author of the book ‘Man
and His Work’ ?

(A) Alfred Kroeber

(B) Edmund Leach

(C) M.J. Herskovits

(D) Meyer Fortes

A ‘model of ritual symbolism’ was
developed by

(A) Victor Turner

(B) E. Evans-Pritchard

(C) Clifford Geertz

(D) Rafael Karsten

A vision of society as constituting
‘Collective Consciousness’ is held by :
(A) Claude Levi-Strauss

(B) Marcel Mauss

(C) Bronislaw Malinowski

(D) Emile Durkheim

What is the term for the nuclear
family that is formed when a person
marries and has children ?

(A) Family of orientation

(B) Family of procreation

(C) Family of parents

(D) None of the above
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10.

11.

12.

Note : This paper contains Seventy five (75) objective type questions of two (2) marks each.

Which one of the following is not
studied in the field of finger ball
dermatoglyphics ?

(A) Ridge counting

(B) Ridge tracing

(C) Main-line formula

(D) Finger ball patterns

The term “Handy man” was used for :
(A) Neanderthal man

(B) Homo habilis

(C) Australopithecus

(D) Peking man

Haemophiliaisa:

(A) Autosomal recessive trait
(B) Autosomal dominant trait
(C) Sex-linked dominant trait
(D) Sex-linked recessive trait

Adaptive radiation is an example of :
(A) Convergent evolution

(B) Divergent evolution

(C) Co-evolution

(D) Parallel evolution

Which one of the following is
correctly matched ?
(A) Bipedalism and Erect posture —

Apes
(B) Mitosis — Reduction division
(C) Sutton - Independent
assortment

(D) Blood groups — Multiple alleles

A condition of reduced oxygen supply
to tissues despite adequate blood
supply is known as :

(A) Anemia (B) Hypoxia
(C) Obesity (D) Anorexia
S-07-13
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13.

14.

15.

16.

17.

The Indian Chalcolithic culture is
characterized by the occurrence of :

(A) Stone Tools
(B) Bronze Tools
(C) Copper Tools
(D) Iron Tools

In which one of the following sites
the remains of Narmadapithecus are
discovered ?
(A) Nevasa

(C) Hunsigi

(B) Hathnova
(D) Navadatoli

The book entitled “The Prehistory and
the Protohistory of India and
Pakistan” was authored by :

(A) Virendranath Mishra

(B) Bendapudi Subba Rao

(C) Hasmukh Dhirajlal Sankalia
(D) Robert Bruce Foote

Which of the following are concerned
with mental health ?

l. Juvenile delinquency
Il. Kuru

1. Drug addiction

IV. Infectious disease

Codes :

(A) L lland IV
(B) Iland Il
(©) I Hland IV
(D) landlll

The principle of social stratification is
reflected in the formation of :

I Ethnic group Il.  Class
I11.  Clan IV. Caste
Codes :

(A) I, 11'and 111 are correct.

(B) land Il are correct.
(C) IHandIV are correct.
(D) Il and Il are correct.
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18.

19.

20.

21.

Who among the following are
associated with the culture and
personality school ?

(1) A. Kardiner

(i) R.Linton

(iii) Cora Dubois

(iv) William Sanders

Codes :

(A) (i) and (iv) are correct.

(B) (ii)and (iv) are correct.

(C) (i), (i) and (iii) are correct.

(D) (i), (iii) and (iv) are correct.

Which of the following are the
components of ‘Sacred Complex’ as
proposed by L.P. Vidyarthi ?

(i)  Sacred Texts

(i)  Sacred Geography

(iii) Sacred Performances

(iv) Sacred Specialists

Codes :

(A) (i), (i) and (iii) are correct.

(B) (i), (i) and (iv) are correct.

(C) (i), (iti) and (iv) are correct.
(D) (ii), (iii) and (iv) are correct.

Who among the following are
considered as the weaker sections of
the Indian society ?

(1) Women

(i)  Scheduled Tribes

(iii)) Men

(iv) Scheduled Castes

Codes :

(A) (i), (it) and (iii) are correct.

(B) (i), (iii) and (iv) are correct.
(C) (), (i), (iit) and (iv) are correct.
(D) (i), (ii) and (iv) are correct.

Which of the following are the
primary roles of a corporate group ?

I.  Asa caparcenary unit

Il.  As aresidential unit

I1l.  Asa consanguineal kin group
IV. Asa production unit

Codes :

(A) I,and Il are correct.
(B) I, 11and Il are correct.
(C) I, lland IV are correct.
(D) NI and IV are correct.
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22.

23.

24,

25.

26.

Which one of the following is not

correct ?

(A) Mutations cause
variation.

(B) Most of the populations are able
to maintain a common gene
pool.

(C) Genetic drift is also known as
sewell-wright effect.

(D) Assortative  mating  means
selection of similar phenotypes.

genetic

‘Secular trend in growth’ means :

(A) Children are growing taller and
age at menarche is decreasing.

(B) Age at menarche is increasing
and children are growing taller.

(C) Children are getting shorter and
age at menarche increasing.

(D) Children are getting shorter and
age at menarche decreasing.

Which one of the following is an
incorrect match ?

Genotype of Possible blood

parents group of children
(A IAIAxIe - A
(B) IAIBxI1AIB — A Bor AB
(C) 1’exiere - 0
(D) IAI°xIAIB - A, BorO

The term “anthropoid’ refers to a unit

of classification that includes :

(A) Monkeys & apes but not human

(B) Apes & humans but not
monkeys

(C) Monkeys, apes and humans

(D) Lemurs, Lorises, monkeys, apes
& humans

Which one of the following pairs is

not correctly matched ?

(A) Brachiation — Gibbon

(B) Balanced Polymorphism -
Sickle cell anemia

(C) Colourblindness - Holandric
inheriance
(D) Non-disjunction — Abnormal

number of chromosomes
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27.

28.

29.

30.

Australopithecines include :

(A) Gracile forms of
Australopithecus
(B) Robust forms of

Australopithecus

(C) Both gracile and robust forms of
Australopithecus

(D) None of the above

The concept of cultural ecology was
used in culture-historical studies by :

1. Julian Steward
2. Vayda and Rappaport
3. L. Henry Morgan

4. E.B.Tylor

Codes :

(A) land2 (B) 2and3
(C©) 3and4 (D) 4and1

The cultural route of early

colonization of Australia during

Hoabinhian culture was :

(A) Thailand -  Malaysia -
Indonesia — Papua New Guinea

(B) Thailand — Indonesia -
Malaysia — Papua New Guinea

(C) Malaysia - Indonesia -
Thailand — Tasmania

(D) Malaysia - Thailand -

Indonesia — Tunisia

The Sarai Nahar Rai site in the Ganga
Valley reveals evidences of :

1. Human burial

2.  Pottery

3. Copper Tools
4. Microliths
Codes :

(A) land?2

(B) Only3

(C) 1,2and4

(D) All the above
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31.

32.

Given below are two statements, one
is labelled as Assertion (A) and the
other is Reason (R):

Assertion (A) :Human beings have a
culture, but they belong to a
society.

Reason (R) : An interest in culture
is prompted by a desire to
discover the way people in a
society comprehend the world
around them.

On the basis of the above statements,
choose the correct answer.

Codes :

(A) (A) is correct, but (R) is wrong.
(B) (A) iswrong, but (R) is correct.
(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one
is labelled as Assertion (A) and the
other is Reason (R):

Assertion (A) : Participant
observation allows the
ethnographer to wunfold the
complexities and subtleties of a
community’s social life.

Reason (R) : Based on participant
observation, it would be
possible to say to what extent
the beliefs and values shared by
a specific community are
typical of the regional context.

On the basis of the above statements,
choose the correct answer.

Codes :

(A) (A) is correct, but (R) is wrong.
(B) (A) iswrong, but (R) is correct.
(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are wrong.
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33.

34.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R):

Assertion (A) :Joking and avoidance
are alternative ways of solving
the social problem of conflict or
social tension.

Reason (R) : They occur in
structural situations in which
the potential for conflict or
social awkwardness is high.

On the basis of the above statements,
choose the correct answer.

Codes :

(A) Both (A) and (R) are correct.
(B) (A)is correct, but (R) is wrong.
(C) (A)iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R):

Assertion (A) :The  shift  from
tradition to modernity is based
on a shift from status to contract
at the societal level.

Reason (R) : In a traditional society
people enter into relations
primarily on the basis of social
status they are assigned by
birth.

On the basis of the above statements,
choose the correct answer.

Codes :

(A) Both (A) and (R) are correct.

(B) (A)is correct, but (R) is wrong.

(C) (A)iswrong, but (R) is correct.

(D) Both (A) and (R) are wrong.
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HRUT(R)  : URWRSE TEST H T
T&a; S 5N e amises
Trefd & SMUR WX Ul Ty
T E |

S FUE F YR W W& S A

T

%

(A) (A) 3R (R) I TEI & |

(B) (A)®El & W (R) T & |

(C) (A)T™d e, T (R) Wl € |

(D) (A) 3R (R) ST Tora € |
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35.

36.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R):

Assertion (A) :For a pastoral society
it is easier to keep the integrated
character of the group.

Reason (R) : Insuch a society a line
of descent through males is not
that strong and that’s why, they
could flock together.

Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (A)iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R):

Assertion (A) :In a plural situation
behaviour that might be illegal
or immoral in one society might
be perfectly rational and
socially accepted in another.

Reason (R) : Looking from the
cultural context, all types of
behaviour appear to be rational
and socially acceptable in all
situations.

Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (A) iswrong, but (R) is correct.

(D) (A) and (R) are correct
statements, but (R) is not the
correct explanation.
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37.

38.

39.

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R):

Assertion (A) :Kuru is observed
among the members of the Fore
tribe in New Guinea.

Reason (R) : It is a disease of viral
origin contributed by the Fore
practice of cannibalism.

Codes :

(A) (A) is correct,
incorrect.

(B) Both (A) and (R) are correct.

(C) Both (A) and (R) are incorrect.

(D) (R) is correct, but (A) is
incorrect.

but (R) is

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R):

Assertion (A) :Gene flow introduces
new alleles into populations.

Reason (R) : Migration IS
responsible for the gene flow.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are false and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (R)istrue, but (A) is false.

Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R):

Assertion (A) : The term ‘pedigree’
and not ‘geneology’ is more

often employed in genetic
inheritance studies.
Reason (R) : ‘Geneology’ also

includes adopted children and
parents as well.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is
incorrect.

(©) (R) is correct, but (A) is
incorrect.

(D) Both (A) and (R) are incorrect.
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35.

36.

T 37 o S T €, U A

(A) 3R T H HRT (R) FT 90 520

T E

AfFHeA (A) | AR THS & ol
THE I THiPd 9T Hl FAC
TG &I S BT € |

FROT(R) U9 99 H, W %
AT I STAATHHR YT AT T
Sl @ el € R gied o
gohg U &l Hehdl € |

FT

(A) (A) IR (R) I &I E |
(B) (A) W& & W (R) T & |
(C) (A) T &, W= (R) T & |

(D) (A) 3T (R) Tl Tord & |

I 37 o §F T E, T R LI

(A) 3R TH FI FROT (R) N A o

T ¥

AtHHe (A) @ THTEH f=&fd § T
AT § S SRR 7Y AT SR
T Tl € 98 3 GENT § qUTe
ferereRyUT e AT ®9 | Wihd
T gHAT E |

FHROT(R) : GiGpas §e9 9 @
W, Tt YR & R T et
A foosqul ik amdiiees &9 9

T Udid &l & |

(A) (A) 3R (R) & I € |
(B) (A)%eIE, ==y (R) T & |
(C) (A)Tera & W (R) Wl & |

(D) (A) 3R (R) a1 Wl &, W (R)
e A T/ T
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37.

38.

39.

T wE T O™ OE FH ¥ TH

EF (A) 3 T 7% (R) ¥

e (A) : = T o BR ST &
@ H ‘P& SERT G ST €

T (R) T BN S § yEfa
TIFOT TAT H HRO GRE O
3T TH AR € |

T

(A) (A) Tl &, AfFT (R) T & |

(B) i (A) 3R (R) W&l & |

(C) =M (A) 3R (R) TTotd & |

(D) (R) W&l &, wfeT (A) Tord ¢ |

d° g o B ™ OE s 9w

e (A) 3R 580 7% (R) € :

AfepeE (A) : ST9 yaE SHEgE | A9
T B AT & |

7 (R) : ST veTE & fAT e
STEET T |

B

(A) (A) 3R (R) 3HF @&l & @ (R),
(A) =l T&l AR E |

(B) (A) R (R) Tl Tt € @ (R),
(A) 1 TEl A T E |

(C) (A) & &, e (R) Tor & |

(D) (R) Wl &, & (A) Tora ¥ |

T 3 o KT ™ OE S ¥ UE

ATTFeA (A) 3R TR T (R) ©

At (A) | AR ER
T | ORIGE’ (e ¥ A
TR SehieT: fhar STer € 7 R
‘SR (ST |

& (R) ;IR % SAd e
fw g o=w @ WL o
MHAE |

T

(A) (A) T (R) Tl T € |

(B) (A) Tl €, wfd (R) T & |

(C) (R) Wl & ol (A) T ¢ |

(D) (A) 3R (R) 31 Tora & |
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40.

41.

42.

Given below are two statements, one
is labelled as Assertion (A) and the
other is Reason (R):

Assertion (A) : The relative phylo-
genetic position of the human
remains unearthed at different
locales are gaining scientific
footing.

Reason (R) : The macro-level fossil
evidences are now subjected to
micro-level analysis of
molecular genetic characters
and isotopic chronology.

Codes :

(A) (A)is correct, but (R) is incorrect.

(B) Both (A)and (R) are incorrect.

(C) (R)iscorrect, but (A) is incorrect.

(D) Both (A) and (R) are correct.

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R):

Assertion (A) : Beta-thalassaemia is
most common in the
Mediterranian region.

Reason (R) : It is not a disease of
Haemoglobin disorder.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) (A)iscorrect, but (R) is incorrect.

(D) (A) isincorrect, but (R) is correct.

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R):

Assertion (A) : Anorexia nervosa is
very common among girls.
Reason (R) : An ideal of female
attractiveness emphasizing on
thinness is thought to provide
cultural status leading to the

development  of  anorexia
(starving oneself to loose
weight).

Codes :

(A) (A)is correct, but (R) is incorrect.
(B) (R) is correct, but (A) is incorrect.
(C) Both (A) and (R) are incorrect.
(D) Both (A) and (R) are correct.
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43.

44,

45.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R):

Assertion (A) : The evidences of
Homo erectus were recorded in
different continents of the old
world including Southeast Asian
islands.

Reason (R) : The bipedalism and
use of hand axe as a multipurpose
tool extended an adaptation to be a

nomad on par with faunal
migrations.
Codes :

(A) Both (A)and (R) are correct.
(B) Both (A) and (R) are false.

(C) (A)is correct, but (R) is false.
(D) (A)is false, but (R) is correct.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R):

Assertion (A) :The ecological
conditions of ‘Nuclear Areas’ are
the prerequisite for the early
domestication of plants and
animals.

Reason (R) : The flood-plains of
rivers like Eupharatis and Tigris
extended an ecology for the
growth of gramenaceae species
(grasses) which supported wild
varities of sheep, goat and cattle.

Codes :

(A) Both (A)and (R) are correct.

(B) Both (A) and (R) are false.

(C) (A)is correct, but (R) is false.

(D) (A) is false, but (R) is correct.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R):

Assertion (A) : A well flourished
Harappan Culture between 3500
and 1750 BCE had a rise and fall.

Reason (R) : The Aryan invasion is
the root cause for the decline and
perishing of a Great culture.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are false.

(C) (A)is correct, but (R) is false.

(D) (A)is false, but (R) is correct.
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40. 9 T wA R W E, W ¥ TR

41.

42.

R (A) & 3R @0 T (R) ¥
sfimeE (A) : o= el @ @St e
Wmﬂ)aﬁuﬁfaﬁwaﬁqﬁw

et =1 3regem gaa o Teagol
B ST @& |

T e e i o

gt

TAT SMETIIUH PIATHH F GeH-
TR faveAuor o S € |

T

(A) (A) Tl g, & (R) Tord € |

(B) (A) T (R) SHI TeAd € |

(C) (R) W@ &, Afeh (A) Tord & |

(D) (A) @ (R) I @&l € |

Ta T FA ™ E H I
e (A) € SR g a% (R) €

HFW(A) {nmwﬁaa%r " dfer-

o

% (R) ?TE»' grente - o
Teieft A T

T

(A) (A) T (R) 51 @& E |

(B) (A) @ (R) 31 Teid € |

(C) (A) Wl &, wifeh (R) ToraT & |

(D) (A) TToid &, e (R) TEt € |

TG oEE KT ™€ ¥ U

AR (A) & R g8 @ (R) 8

FWHAT (A) : TMicrmreit § TARTRE
AT g S E |

% (R) : AfEeTeT | STRUUT
Y BT W ST & &, U
AT & 1 39 GiEpias 390 &
FoRE®d ARSIl (@59 6H
FH H 0 @E @ @)
faepfaa e ¢ |

(A) (A)T& &, wfeT (R) Terd € |
(B) (R) W& &, Al (A) ToAd & |
(C) (A) T (R) IHITToid & |
(D) (A) T (R) ST T |
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43.

44,

45.

T 31 A G T € U A st
(A) TW H FROT (R) 1 AW A @

afW(A) SfeqoTge uferETs B9
aﬁﬁgﬁq 3T & 9T AeTgT |
& T w Tt

TR TR o |

[T F T H OFW FER H
ST A S % oS ®

T A=) a1 & fo1d e
=l S@re & |

(A) (A) 3T (R) I T & |
(B) (A) 3R (R) IHITTord € |
(C) (A) Wl g, =g (R) ToId & |
(D) (A)Tod &, W (R) WEl & |

9 g w5 T €, T w s
(A) W N FWO (R) AW AT ="

alfw(A%qﬁmT a%ﬁ a%

éwrr{ﬁﬂqer?wéo‘%ﬁtﬁ
A I E |
FRU(R)  : ThicH R RN S
\"1¢’1l<’1||0|<‘| HIAI
trr&ﬁaﬁﬁ PN, TEET @ﬁfw
), St ¥El, sEREl T Ty
ﬁmﬁﬁwﬁaﬁqﬁfaﬁaﬂﬁﬁ
% faepr & o2t forateet fepam |
- T
(A) (A) 3R (R) 3HI T € |
(B) (A) 3R (R) I Totd € |
(©) (A)E%QF%W(R)W%l
(D) (A)Toid &, R (R) W&l & |

T T e T T €, U A Ay
(A) waﬁw(R)wwﬁmw

aﬁm‘—r(A) 3500 3 1750 e &
WWWWWWH
Q-ortmgemm|

HFRUT(R) T HeM W& & Iad
Wwwwwaﬁﬁrﬁrw
STISHATT o7 |

Fe

(A) (A) 3R (R) T T&I & |

(B) (A) 3R (R) IHITTord € |

(C) (A) Wl g, ™= (R) ToId & |

(D) (A)Tod &, W] (R) W&l & |
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46.

47.

48.

49.

Arrange the following books in order

in which they appeared. Use the codes

given below :

l. Peasants by Eric Wolf

Il. Social Anthropology by
Edmund Leach

1. The Nuer by E.E. Evans-
Pritchard

IV. Capital : A Critique of Political
Economy by Karl Marx

Codes :
(A LIv,iaLmn  (B) Vv, LI
©) v, uLLmn (D) HLIV L

Identify the correct sequence :
(A) Monogamy — Group marriage —
Polygamy — Sexual Promiscuity

(B) Sexual Promiscuity — Group
marriage — Polygamy -
Monogamy

(C) Polygamy - Monogamy -—
Sexual Promiscuity — Group
marriage

(D) Group marriage - Sexual
Promiscuity — Monogamy -
Polygamy

Arrange the following Indian

Anthropoligists in order in which they
made their appearance in the
academic field :

l. Nirmal Kumar Bose

Il.  Panchanan Mitra

I11.  Andre Beatille

IV. L.K. Mahapatra

Codes :
A LiILuniv (@) I LIV,
C©) LiILiv, i (D) WLV

Arrange the following, in order of
increasing scale of Outreach :

(A) Ethnomedicine - Home
remedies -  Ayurveda —
Allopathy

(B) Home remedies — Ayurveda
Allopathy — Ethnomedicine

(C) Allopathy — Home remedies
Ayurveda - Ethnomedicine

(D) Home remedies -
Ethnomedicine — Ayurveda -
Allopathy
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50.

51.

52,

53.

54.

Identify the correct sequence in

formulating a research design :

(A) Selection of problem — Selection
of method — Selection of universe
— Selection of sample

(B) Selection of method — Selection
of problem - Selection of
universe — Selection of sample

(C) Selection of problem — Selection
of sample — Selection of universe
— Selection of method

(D) Selection of universe — Selection
of method — Selection of sample
— Selection of problem

In notifying a tribe as ‘Scheduled
Tribe’, which of the following, is one of
the considerations ?

(A) Shyness with the public at large
(B) Sex-ratio in the community

(C) Population size of the community
(D) Religion practiced by the community

Identify the correct sequence of
Landmarks anterior-posteriorly in the
mid-sagittal plane :

(A) Nasion - Bregma -
Opisthocranion — Glabella
(B) Bregma - Nasion -

Opisthocranion — Glabella

(C) Nasion — Glabella — Bregma —
Opisthocranion

(D) Glabella — Nasion — Bregma —
Opisthocranion

What is the sequence of information

transfer in protein coding ?

(A) mRNA — DNA — tRNA —
Aminoacid — Protein

(B) DNA — tRNA — mRNA —
Aminoacid — Protein

(C) DNA — tRNA — Aminoacid
— MRNA — Protein

(D) DNA — mRNA — tRNA —
Aminoacid — Protein

Which one of the following is the correct

sequence of a polymerase chain reaction ?

(A) Primer extension — Annealing
of primers — Denaturation of
DNA fragment

(B) Annealing of primers —
Denaturation of DNA fragment
— Primer extension

(C) Denaturation of DNA fragment
—  Primer extension —
Annealing of primers

(D) Denaturation of DNA fragment
— Annealing of primers —
Primer extension
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46.

471.

48.

49.

TAfafad gl & 39 WM & A

A afe & A" KT T B H uEnT

F

l.  US=d, TR dic® 51

Il. 9T T, TeHS ofid gRT

1. ﬁwggmmm

V. Ffea : ¢ i 3w difdfesa
MWWW

F :

(A) LIV, (B)

©) IV, 11,1 (D)

Tl TR JaTed

(A) U — e fGaE - 8-
Toams — At

(B) fﬁﬂ@ﬁm - e foeme — og-
[IaTE — TehicraTs

(C) wgfaamE — Tshicams — AR —
qrfes faare

(D) wmfew foame — IR —

THferaTe — agoIele

fFefafEd aRaE AHaeniEal s ST
FHEHE &7 H U B % HH H
AR hY

. e $AR I
1. Y=

1. 31 sifaer

V. TA & Teue
FHT

(A LILuLIv - (B)
© LI, IV,IIl (D)

Vv, I, 11
IV, I

I, 11V,
i, 1, 111V

AT & ggda" 99 F HH H

T TeRad ol sared &Y

(A) TSI Sty — TJeree fafsher —
TS, — et

(B) TR/AEE] fafmer  — \51|ei<§|q _
TeAT — ot ferfeped

(C) i — s e — e -
et faferaar

o o (2 oo
(D) =e] ™Rl — oA [arhedl —
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50.

51.

52.

53.

54.

I T FRGT TR B BT el A
Y
(A) THET H T — YFA B I —
TN T =TI — UGS H1 I
(B) UBd H TFT — TEET FH 9T —
HARE T TIT — Uiagel 1 T3
(C) THE 1 T4 — Uasyl 1 947 —
AN T T — TG T T
(D) THAME & T — TFA H F9T —
T T — T FH T4

SIS Rl 3T Itld ﬂdﬁlg@%‘ ® H
afergfad % T FEfaRad kiG]
I = foran ST & 2

(A) WWW%WWWﬁ

(B) T H forT ST
(C) TURTH Fi SHEEA HT 3MHR

(D) TR H ¥q
e QYA do7 @& W W ¥ U9
3 T Fige foget & W&l 9 @i

Lraclileg
(A) S — ST — STk —
TATAT

(B) T — AN — SURABRAAA —

(C) ARE@M - Tolgem — ST -
e

(D) woEem - AfFEE - a -
PN

TS hIfST H AT SEicR o1 6 T & 2

(A) mRNA — DNA — tRNA —
T U —> WeH

(B) DNA — tRNA —» mRNA —
THAT TS — WA

(C) DNA — tRNA — twHHr tfgs —
mRNA — W=

(D) DNA — mRNA — tRNA —
T UfgE - WA

FfeiEd & @ UieRst o9 o= &t

TE T B T ?

(A) VEHT TSI —> UTEAR-STHIT
— ST, THS

(B) WIEHR-3THfelT — SLUA.T, HS &l
%ﬁa@mawm%m

(C) STAT Fe @ fergqiom —
AT TR —> HTEH T

(D) BT WHe & fegmRE —
TTEHR-3THITTT —> UTEAT
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55.

56.

S57.

58.

Identify the correct sequence of blood
group systems in order of their
discovery :

(A) Rh— ABO - MN — Ss

(B) Rh— MN — ABO — Ss

(C) ABO —> MN —> Rh— Ss

(D) MN — ABO — Ss — Rh

Identify the correct sequence of

polymorphic genetic markers in the

order of their use in population

variation studies :

(A) Red cell antigens — Serum
proteins — Red cell enzymes
— DNA markers

(B) Red cell enzymes — Serum
proteins — DNA markers —
Red cell antigens

(C) Red cell antigens — DNA
markers — Serum proteins —
Red cell enzymes

(D) DNA markers —  Serum
proteins — Red cell enzymes
— Red cell antigens

Identify the correct sequence of
vertebrae in the human vertebral
column from cephalic to caudal
direction :

(A) Axis —» Atlas — Thoracic —
Cervical - Lumber — Sacrum —
Coccyx

B) Atlas —» Axis — Cervical —
Thoracic — Lumber — Sacrum —
Coccyx

(C) Cervical — Atlas — Axis — Coccyx
— Lumber — Thoracic — Sacrum

(D) Lumber — Sacrum — Axis — Atlas
— Coccyx — Thoracic — Cervical

Arrange the sites in the culture

chronological order :

(A) Attirampakam - Nevasa
Patne — Bagov — Utnur

(B) Attirampakam -  Utnur
Nevasa — Patne — Bagov

(C) Nevasa — Utnur - Patne
Bagov — Attirampakam

(D) Patne - Bagov — Nevasa
Attirampakam — Utnur
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59.

60.

61.

(d) Marriage of a

Arrange the European prehistoric

cultural traditions in the correct

sequence :

(A) Gravettian - Perigordian
Azilian — Maglemosian

(B) Azilian - Maglemosian
Perigordian — Gravettian

(C) Perigordian — Gravettian
Azilian — Maglemosian

(D) Maglemosian - Azilian
Perigordian — Gravettian

The Great Indian Civilization of the

Harappan culture is known through :

(A) Town planning — Navigation —
Trade- Inscriptions

(B) Ship building - Pyramidal
structures — Sun God
(C) Granaries — Dock Yard -

Inscriptions — Pottery
(D) Town planning — Trade — Seals
— Terracottas

Match an item in List — | with an item

in List — Il. Use the codes given
below :
List—1 List— 11
(@) Marriage ofaman (i) Parallel-
to his mother’s cousin
brother’s daughter marriage
(b) Marriage ofaman (ii) Cross-
to his father’s cousin
brother’s daughter marriage
(c) Marriage of aman (iii) Sororate

to his dead wife’s

sister

(iv) Levirate
woman to her

dead husband’s

brother
Codes :

@ (b © @
A) () (i) (i) (iv)

B) (v) @) (i) (i)
(©) (i) (i) (v) ()
© Gi) @) (i) @)
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55.

56.

S7.

58.

T HHE SHET @I % 3R W el
S o TEaTT

(A) Rh— ABO - MN — Ss

(B) Rh— MN —> ABO —> Ss

(C) ABO —>MN —>Rh—Ss

(D) MN — ABO — Ss — Rh

SAeE  fafaudr eI W WEE
AT Tg&W AR & &l S

(A) T I TR — IRY AR —
A TR — SLTA.T, AT

(B) o1 Tl TSR — URY Ui —>
STAT, TR — 3 e T

(C) I ¥ WIS — SLUAT, T

— WRE AR — ¥ 9ol T

(D) SITAT T — 9RA U —

TS |l T — (8 6 T

TS HIED 5 Dl HIEH T MY T

T i 3R el 31 | gl

(A) TRH - Teow — akas —
TWAEHA —> =L —> T —
FIH IR

(B) TWed — TR — TERHA —
IRH —> T — 99 —
EAEAREE]

(C) WERFA — ol — Tead —
HIHTFT —> T —> IREH —
Hohr

(D) =R — IhH —> TRH —> Tl
- FHHEFE — 9ifEE -
TR

ffafad Tretl st BT — HTATHHS

T H AT

(A) ATCTIHA — AT — U — AT
_w

(B) 3ATCTHHA — IA — ol — dreH
— FTE

(C) Ha™r — 3AX — G — drma —
HieTeHn

(D) A — SN — T — ATy
_W
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59.

60.

61.

MET IRIdels  Qiapide  RERTeH
ﬁaﬁmﬁm@ﬁaﬂﬁﬁ

-~

(A) fafeaT — ufaitea — uistieras —

(D) <SA =T - 28 — 9 () —

Eoic 1 o e U s o i e ol 1)
Rl L | A 52 et T T

=it - | =t - 1

(a) TET N AT (i)  THK -
% TS Sl FHAT CIEECED]
Y foare foame

(b) TEEH O (i) HE-HNA
T o Wi =t Toame
o 9 faae

(C) TBT H A (iii) @l
Tq ufeT faare
e @ foare

(d) S e (iv) IW
Tq fd & 91 3P
Y foame

FT
@ () (¢ ()

(A) () (i) (i) (iv)

(B) (iv) (i) (i) (iii)

(©) (i) (i) (v) (i)

(D) (i) () (i) (iv)
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Match an item in List — | with an item in

List— 11
Village Kishan-
garhi

Village Rampur

Village
Ramkheri
Village Bisipara

(iv)
i
(i)

Match an item in List — | with an item in

List - 11
Julian Steward

Herbert Spencer

(iii) Lewis Henry

Morgan

(iv) Charles Darwin

(d)
(iv)

(iii)

W

Match an item in List — | with an item in

List—11
(i) D.N.
Majumdar
(i) Andre
Beatille
(iii) David

Mandelbaum
(iv) Luis Dumont

(d)
(iv)

62.
List— I1. Use the codes given below :
List—1
(@) Oscar Lewis (i)
(b) Mckim (i)
Marriott
(c) A.C.Mayer (iii)
(d) F.G.Bailey (iv)
Codes :
@ (b (o)
(A) (i) (i) (i
((I%) (1v) (|_|_|)) ((ilili))
i i
EDg (gi?) iv) (i)
63.
List— I1. Use the codes given below :
List— 1
(a) Differential M
Evolution
(b) Cultural (i)
Ecology
(c) Developmen-
tal Scheme
(d) Social
Darvinism
Codes :
@ (0 (o)
(A) (1) (i) (i)
SRR
EDg éiii; (i) ()
64.
List— 1. Use the codes given below :
List—1
(@ ‘Racesand
Cultures of India’
(b) “Society in India’
(c) Homo
hierarchicus
(d) “Caste and other
Inequalities’
Codes :
o @
B) (i i) (iv
gCi (i) ((i)) giié

(D) (i) (i) (iv)
Paper-111
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65.

(@)

(b)

(©)

(d)

66.

Match an item in List — | with an item

in List — Il. Use the codes given

below :

List—1 List—11
Polyploidy (i) Traits expressed in

only one sex that
are controlled by
genes on the

autosomes
Sex- (i) Having extra set of
limited chromosome
trait
Sex- (iii) Traits expressed
influen- more often in one
ced trait sex that are
controlled by
genes on the sex
chromosomes
Sex-linked  (iv) Traits expressed
trait more often in one
sex that are
controlled by
genes on the
autosomes
Codes :
(@ () () (d)
(A) (i) (i) (iv) (i)

®) () @) (v) (i)
© Gy () (v) (i)
© @ @O ) (i)

Match an item in List — | with an item
in List — Il. Use the codes given
below :

List—1 List—11
(@) Transcription (i) Protein
production
(b) Translation (if) Triplet UUU
(c) Genetic (i) m-RNA
material production
(d) Geneticcode (iv) DNA
Codes :
(@ (b () (d)
(A) (i) () (v) (i)
(B) (i) (i) (iii) (iv)
(C) (i) (iv) (i) (1)
(D) (v) (i) (i) (i)
S-07-13



62.

63.

64.

g1 H TS B G-l B 9= % e
grfeId Y | A 5T Bt B IgeT Y

= - |
(@) oI oAfad
(b) HfHH AR e

() THIR
(d) T . e
B

@ (b) (o) (
(1) (i) (iv)
(B) (iv) (iii) (ii)
(i) (i) (iv)
(D) (i) (iv) (i)

(A) (i)
(OO

=t - 11
(i) e feperrgt
(i) e TEYR
(iii) TTer T
(iv) e fafgumy
(d)
()
(i)

Tl = H7&T H gE-1l H S d e
guferd Y | A 5T et T T

=t - |

(a) fordl sfarshrar
(b) Wt
RURESIRED

(c) TomraTT®
RISCH)

(d) EIEISED
SICECIES

HE

(A) (i)
(B) (i)
(C) (iv)

=t - 1

(i) Stferm ©iarg

(i) & WA

(iii) e &
A

(iv) =g eifam

@ () () (@
@iy (@) (iv)
M (iv) (i)
i) (i)
(D) (i) (i) (1)

(i)
(iv)

Teft-1 | Y TE AT B G-I H ST AT

H
= - |
(a) @ we
FHodd 3H
e
(b) @ e
EHERI

(c) @m

% | FHferd L | A &3 el 1w

=it - 11
(i) <o

TSTIRR
(ii) 3t aiferet

(iii) e
Sk

(d) FReTE 3T (iv) =9 gl
ESEECIGE]

ET4

[N

(A) (i)
(B) (i)
(C) (i)
(D)

S-07-13
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@iy (@) (iv)
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65.

66.

-1 o S e e o g1 6 T e o
1 gHferd & | A =3 el o T

=t - |
() SEoRT
(ATeiTeTEeY)

(b) femm-whif
T

(c) Form-
TeTfere

Ad0T

(d) femm

L4

a

@ (b)
(A) (i) (i)
®) ) G
©) (i) (i)
(D) (i) ()

(i)

(i)

(iii)

(iv)

(©)
(iv)
(iv)
(iv)
(iv)

=t -
AR T
ferg S g1
et e & o)
AT U [ o
feaE Tga ¥ |
O
AR T
%ﬁﬂa

e ST gRT
et e &
SATHHIIT: TH
o o femre
TEd ¥ |
AT 9T
Suferd S
FBERIEREAR
%ﬁﬂﬁaﬁ?ﬁ:
TIRTOT U &
fom o femre
TS T |

(d)
(i)
(i)
(ii)
(iii)

gefl-1 | <Y € AR o g1 H < e mei

Ty

% T FHferd &L | A &3 el B

=it — |1

(i) o Fmior
(i) B UUU

(femie UUU)

(iii) m-RNA
fmoT

(d) erEfeF e (iv) ST
g

@ ()

(©)

(A) (i) () (iv)

(B) (i)
(C) (i) (iv)
(D) (iv) (iii)

(i)
(i)

(d)
(i)

(i) (i) (iv)

(i)
(i)
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67. Match an item in List — | with an item in
List— I1. Use the codes given below :

List— 1 List—11
(@ Tag (i) Red cell
polymerase enzyme
(b) DNA (if) Serum protein

fingerprinting

(c) Haptoglobin  (iii) Alec Jafferey

(d) G4PD (iv) Polymerase-
chain reaction
Codes :
@ (o) (c) (d)
(A) (iv) (i) (i) (i)
(B) (iv) (i) (iii) (ii)
(C) (i) (iv) (i) (iii)
(D) (1) (i) (i) (iv)

68. Match an item in List — | with an item in
List — I1. Use the codes given below :

List— 1| List—11
(@) Autosomal (i) Haemophilia
recessive
(b) Autosomal (ii) Beard
dominant development
(c) Sex-linked  (iii) Polydactyly
(d) Sex- (iv) Phenyl ketonuria
limited
Codes :
@ (b) () (d)
(A) (iv) (iii) (i) (i)
(B) (iv) (i) (iii) (ii)
(C) () (v) (i) (i)
(D) (i) (i) (i) (iv)

69. Match an archaeological site in List — |
with the cultural phase in List — I1. Use the
codes given below :

List— 1 List— 11
(@) Tilwara (i) lron age
(b) Sanganakallu (ii) Mesolithic site
(c) Inamgaon  (iii) Neolithic site

(d) Kosambi (iv) Chalcolithic site
Codes :
@ () () (d)
(A) () (v) (i) (i)
(B) (i) (i) (i) (iv)

(€) (i) (i) (v) (i)
(D) (v) (i) (1) (i)

Paper-111
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70. Match an item in List — I (tool form) with
tool type in List — Il. Use the codes given
below :

List—1 List— 11
(@ Compound Tool (i) Chopper

(b) Core Tool (i) Harpoon

(c) Bone Tool (iii) Burin

(d) Engraver (iv) Microliths

Codes :

(@ () () (d)

A) () (v) (i) (i)

(B) (i) (i) (v) ()

© (i) Gi) () (@v)

(D) (iv) () (i) (iii)
Read the passage given below and answer the
questions that follow, based on your
understanding of the passage : (Q.Nos. 71-75)

The field of development

anthropology has been around long enough to
know, in general terms, what works and what
does not when designing programs of
planned change. It would be overstating the
case to suggest that an anthropologically
informed project that takes into consideration
local cultural realities is bound to succeed.
But it would not be unreasonable to hold that
any project ignoring local cultures is very
likely to shoot itself in the foot. It is,
therefore, stunning to read about a
development project initiated in the 1990s
that so thoroughly avoided addressing the
major issues of development anthropology.
Applied anthropologist William Loker (2000)
describes a $ 25 million project in Central
Honduras designed (allegedly) to create
sustainable development while at the same
time protect the environment.

The EI Cajon Watershed Renewable
Natural Resource Program was designed to
help very poor people who had been
displaced a decade earlier by the construction
of a large dam controlled and operated by the
national electrical authority. Although the
planning documents said all of the right
things, the implementation was quite another
story. First, because there was no
anthropological input, the project
administrators knew little about the local
culture, attitudes, or local organizations.

S-07-13



67. G-l W TE w1l WS R %
g G Y | A TS e o T

=it - | =t - 1
(a) THUTTRST (i) IS WA T=mEH
(b) dwEm (i) HRT W=
(c) Terelfem (i) Tolw SHG
(d) G¢PD (iv) ifers-a=-
[ECENE)

HT

(@) (b) (c) (d)
(A) (iv) (i) (i) (i)
(B) (v) () (i) (i)
(€ () (v) (i) (i)
(D) () (i) (i) (iv)

68. -l W ME W B G-I T A
T GRleTd | A 53 2t o It

=t - | =t -
(a) TR (i) AT
A

(b) Tt (i) =TEr = fawa
AT

(c) & — e (iii) uiehfret
(d) fomr—dfma  (iv) T

HT !

@ () () (d
(A) (iv) (i) (i) (i)
(B) (iv) (i) (iii)y (ii)
(C) (i) (v) (i) (i)
(D) (i) (i) (i) (iv)

69. TI-l H WaWE wel ® ogd-ll |
Gipias =0T & G gAfed H | A
&3 et 1 v

= - | = - 1
(a) femarer (i) e
(b) WHReT] (i)  HEOTHTOT e
(c) AT (iii) eTToT T
(d) =prorit (iv) TTEHTTOT T

. T4

(=N

@ () () (d)

(A) () (v) (i) (i)

(B) (i) () (i) (iv)

(C) () (i) (iv) (i)

(D) (v) (i) () (i)
S-07-13
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70. G-l H (IUHOT ®Y) AT B GEr-ll H
W)%mg&%mﬁ | e &

el HT TR

= - | =t - 1
(a) ﬁgﬁﬁw (i) T
(b) BR3UHT (i) TRYA

(FIITeTaTTE)
(c) afer3uwor (i) =RA
(d) SchioTR (iv) & groTor
FHT

(@ (b) (o) (d)
(A) () (v) (i) (i)

(B) (iii) (i) (iv) (i)
(C) () (i) () (iv)
(D) (iv) (i) (i) (iii)
T f5 T UR=E @l U IR oM A 5 el
FH W, TDT & AT TR & MR W T
@H. 71-75)
HHERTE 1 & o 999 | el
M W &, AT ®9 F I8 WA % ol T
ST aRed & HEshdl ®f ERET S
T T HRW ST & 3R T T | g el
fqau & % AHaRTEE gitehor ¥ o=
RS, ST I G&Hd H e § @
& 3TERT & AT Bl & | ] T8 = e
A el i W IRESH @ % U W Feerel
AR ST ¥ | 3T, 1990 % S § Y& Bl TS
o GRS & SR | ST e e €
% 39 99g foeg AFeRTE & q& 5 &
IS S I JOTAT SUET S TE | SATIRING
W%ﬁmaﬁwaoooﬁ@wﬁw
T 25 ffem SoR #t aREsTHT &1 9o 55 &,
STt T He forehra o goT9 Ud |1 & UAiE)oT i
?ﬂ‘%—ﬁgb‘%ﬁi (@ AR W) qER B TE
|

3 FoIA AR Rguae Sava RA™
FEHA FEd TS Al T8E B o [ dAR
Topar T o, ST U ToR STRer gNT
T U foenet af o M o SR U
T @ TEd W T ™ g | e e
TS | e 2eh-3ish el T T, TR SR

& FEF 4 | ol S, b 39 hig
o T o1 Wew aRkaEsE &
TR TG TEhi, stvgiaar a1 W et
%I T Sgd HH ST I | WIS T S
AT TSR W 3R ST TR-GRERY
T % |1 T T Bl AT HIAl o |
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Project plans called for active participation
by local people and close coordination with
local non-governmental organizations
(NGOs). Yet, owing to lack of interest, a lack
of good information, or both, neither of these
proposed goals was successfully carried out.

But perhaps even more damaging to
this expensive, but potentially beneficial,
project was the apparent lack of
consideration for some basic issues of
development. The dual objectives of the
project — sustainable economic development
for local people and protecting the
environment — are often at odds with each
other. The literature is filled with examples
of how conflicts exist between economic
development and protecting the environment
yet program planners never addressed this
issue or its implications for project activities.
Instead of considering how environmental
and development goals could be made
compatible, administrators embarked on a
tree-planting project without much of an idea
as to how it might impact either the social or
natural environment. After interviewing the
forestry engineer responsible for carrying out
the tree-planting project, it became clear to
Loker that the most basic questions had not
been answered. For example, what trees
should be planted, by whom, and for what
purpose ? How should trees be integrated
into the already existing agricultural system ?
On whose land should the trees be planted,
and who owns them ? That none of these
questions had been answered prior to the start
of the project indicated to Loker a shameful
lack of thought about the project on the part
of the administrators.

71.  What should be the main concern of
development anthropology ?
(A) To know what works when
designing planned change.
(B) To know what does not work
when designing planned change.
(C) To know what works and what
does not work when designing
planned change.
To design planned change.

(D)

72,

73.

74.

75.
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An  anthropologically  informed

project means :

(A) That anthropologists are also

the executors of the project.

(B) That it seeks the views of

anthropologists on the

modalities of the project.

That it takes into consideration

local cultural realities.

That it ignores local cultures in

favour of  anthropologists’

personal opinion.

What did the ElI Cajon Watershed

Renewable Natural Resource Program

in Honduras want to achieve ?

I.  To create sustainable development.

I1. To protect the environment.

Il. To create sustainable
development. and at the same
time protect the environment.

IV. To help very poor people who had
been displaced earlier.

(©
(D)

Codes :
(A) 1&Il B) &I
(C) 1&1I (D) I &IV

Why did the Watershed Renewable

Natural Resource Program fail ?

(A) The local nongovernmental
organizations were left out.

(B) Active participation of local people
in the project was not sought.

(C) There was a general lack of

interest on the part of all the

stakeholders.

The dual reasons of a lack of

interest and a lack of good

information about local cultural

realities contributed to the

failure of the program.

What were the lessons learnt from the

project ?

l. Potential areas of conflict
between economic development
and protecting the environment
were never addressed.

Il.  There was not much of an idea
about the social and natural
environment.

(D)

.  The tree-planting project
undertaken by the forestry
engineer should have been

vigorously pursued.
IV. The administrator should have
taken more such initiatives from

their side.
Codes :
(A) landll (B) Handlll
(C) Iland IV (D) land IV
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TR oft, TeTerel & 3T, T3] STl & 3TvTa
o HROT AT ST o 9T T 3 Uaierd ofedi § 9
Ig H TheTdTge I3 Tl fohar T |

W] e 3 S Sl TE el W]
g &0 F A9FR RIS & o smer
THEAE 3T 919 I8 ot TR fow & 9 gona
TR WX Tawa T T 31T o7 | Ui & 15
YT — wﬁavﬁﬁwwwﬁaﬁﬁww
AR F G F RN TF T Y
wﬁﬁ%wﬁaﬁﬁ@aﬁmﬁvﬁ%
T T UR onfas foaem@ den gaierer &
RN % d" gy e g R ot sewd
ASHRT 3 T T W AT URASHT g
TAtarE T Te are UHel WO O e
T2t fea | foh| U ardTerui qer o wedt
T 3TTET ST ST Tohall & 39 W foaR & &
AT URTTHH-TT0T JeIRIIUT URASHT o HH |
S U, AR IF TH a1 =T & e o4
I {oh YR WHITSTeh T WTehideh aTdTeRoT i
g HEM | 3 IRASHT & hareae &g
TR aTehl SR T WIETehR L & 15
TR B TE W B AT TR S qaits
e d U 1 I A ST | SRR % Tt
T gaft o1 TuoT T €, TR g, ST foh
T F o 2 59 UPR g&ll B e @ &

P FIET & T ThiPpd (AT ST
MMeT 2 forest 9 X &It 1 9T fomar ST
T 3T BT TH @Er 8 2 T70 9 fohar o
U9 Bl ST INESTT % TR B 9 g T
fear mar on, TEY AT I UNESHT & SN H
TRTEehT T T o YT 3TTe o Wehl e |

71, ToomE AFeRTE % I WIER 94T 8
=T ?

(A) ST RS aRed o TRET TaR

F A AT S T T SR

B 2

(B) & MHaIfSTa ufRed i TWRET TaR
L A1 Tg AT o T FRT TN
BRI & 2

(C) & FHaifsa uRadH o ERET AR
L Al g ST o 1 HRAR @i
R 7 7 2

(D) TEifsa e @ TR@T TGR
AT

72,

73.

74.

75.
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AHERTEE €9 8 TR & T8 aREsH

P AT E

(A) T wFeRmEl  OEST %

|

(B) T g7 uREisHT & faf=T womelt w0
HETIEET 2! T ST |

(C) & =FT® wWHEA
SR 1 e | e ¥ |

(D) T =& THaenfERl S Sfwrd T
%&ﬁﬁwﬁaa@%ﬁﬁm

|

TS H 3T Hefid aewie Rguaa
Sver R T SR SeTe ST e
o 2

l.  Tad o™ & geH

1. STTeRoT Y g

IIl. Tad fas@ &1 o= oo a8
mﬁama%wm

V. o7d e Al % A5 T i
e forenfua & T 9 |

T

(A) 13RI (B) 1l

(C) 13wl (D) ISRV

eXPE Rguael Aavel RArd oo =t
et g3 ?
(A) %Hﬁa EN T & BlE

(B) ufRESHT fr T AR w AR
TP 26T SR e feham T |
(C) =it wwfea =aforar o 9 &
qul@‘%'cﬁ arteRATe &
(D)
TN B & A9E aﬁTémsl ekl
? g & g eh|<U|| T HEAHH

forerar & RIME R fopam |

qﬁaﬁw@w@aﬁaﬁﬁw’?
3Tk forehTa 3T ATATaRoT TR o
M 99 & guifed &8 W foEw
Tel fomam |

I, g qer IR0 &
aﬁﬁaﬁé%@trt—rmamﬁqﬁﬁ|

. =R SSFER 3R el TS
FERIT GRS St ST & T
e o7 |

IV. URTE  $ 3R T FIF 3701
A G AR H =g & |

Fz
(A) 131l (B) 13RI
| 3R IV

(C) mawiv (D)
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